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20159 & 20l & LB A S A
2A: A
MM AXMMAEAXE
SHel AHY - FJAHANE 29 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
3| Hl ot 3,999, 146 3,396,293 602,853
= 110,000
Al 3,889, 146
AMTHE XA 3,886,506 3,265,165 621,341
=2 110,000
Al 3,776,506
HSY -3 HHE 25 1,258,857 255,108 1,008,749
SIAXE2YE 1,014,629 35,180 979,449
101 @1 21| 13,857 0 13,857
04 JIZtHI22XNHEE 13,857 0 13,857
O3z Ny 29 2k B4 13,857
oJl2z 44 640 * 1Y = 230 10,268
oFF Y 44 6403 * 19 = 47 2,099
o 2tAlY| 3,000& = 1Y * 230 690
oY A F I 400,000& * 14 = 23] 800
201 Bt A | 990,872 25,280 965,592
01 At 22l Yl 14,220 14,250 A 30
Odet=gH| 8,220
o3lH NEMFR ARE F7¢
50,000& * 12& 600
oM&) A28 F¢ 500,000& =* 23] 1,000
o Z AN HMZ 65,000& * 508 * 2& 6,500
oNLMEASZ IAMHIMHBIA =2
80& = 1,500 120
O 2= 6,000
o ZMBANMAR =H
100,000& * 39 * 20 6,000
02 35294l 976,652 11,030 965,622
OFHXNBRI HEBESEEZ 10,692
o193 80,000& * 28Y 2,240
o5& OHA 42,0003 * 33H 1,386
o3& oHA 28,0008 * 1124 3,136
o &3 10,000& = 393 3,930
O as & S5 500,000& * 23] 1,000
O =0M=SHEH 2IHXA =22 964,960
202 O B 8,100 8,100 0
01 2L Y| 8,100 8,100 0
OZHER =& 81,0008 = 58 x 22 x 103 8,100
301 dEtE A= 1,800 1,800 0
09 HALAHIBEA = 1,800 1,800 0
OZAAANRE AHIEA
30,000& * 3¥ x 20 1,800
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MM AXMMAEAXE
SHel AHY - FJAHANE 29 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SAE) 29 13,816 14,416 A 600
201 et A | 10,900 11,500 A 600
01 AFR2 2t 2l dl 10,900 11,500 A 600
OMBIHZ A SOZAHA HE 10,000
OMREIOAMN HE 15,000& * 602 900
202 (4] 2,916 2,916 0
01 2L Y] 2,916 2,916 0
O=AS)I3Y YR
81,000& » 24 x 2& x 93] 2,916
Herze 29 14,620 14,620 0
201 LBEt2 | 11,080 11,080 0
01 At 22l Yl 5,080 5,080 0
OdetZ2H| 3,960
oZ2IJIEEX 2 20,0008 * 45 ~ 12& 960
olMIYE OS2 3,000
o2g=¢ 1,120
oHtMolPIRE HALY
70,0003 * 8Y * 23| 1,120
02 33249l 6,000 6,000 0
OAH&|ZZ2 08 A2l
500,000& = 12& 6,000
202 04| 3,240 3,240 0
01 2LH0HI 3,240 3,240 0
OHU*AHAR 34 81,000& » 4% = 22 * 53] 3,240
301 dEtEAZ 300 300 0
09 HALAHIEA = 300 300 0
OHLAARAZ AlH B4
60,000& = 5% * 13 300
HE XA EH &5 215,792 190,892 24,900
201 LEt2 Y| 174,720 161,320 13,400
01 At 22l Yl 14,500 2,500 12,000
Ogst=2H| 14,500
c=2EE di¥xg 500,000& * 33| 1,500
oXMIEN] 2 22 ¥ JECXN 7 1,000
oXMIIEN] ES2ACIAIAE ctojdA 22
1,000,000& = 124 12,000
02 3524l 153,220 156,820 A 3,600
O332=2 % HA 57,460
o XS XA (21CH) 4,200
oANEXEE = (93LH) 52,000
ocEAMEESZ2(18LH) 1,260




S RECI ()
Hu: AAE T @
el He - AAHAME 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O Xttt 380,000& = 21CH » 12& 95,760
03 &AL S HI 7,000 2,000 5,000
OIsA 7HA 2HIAL M=CHE JH= 7,000
202 o4dl 9,072 9,072 0
01 = LH o4 1l 9,072 9,072 0
O2HIA gR2+H
81,0003 = 4% * 22 * 143 9,072
405 XHoHF S HI 32,000 20,500 11,500
01 AL EZFH S 32,000 20,500 11,500
OHXERD 2l I 2,000,000& * 6CH 12,000
OAMEE &Il 7¢ 20,000
= - 3N 2e 83t 2,627,649 3,010,057 A 382,408
= 110,000
Al 2,517,649
S3EA &2 692,301 1,232,513 AB40,212
101 @124l 14,157 13,369 788
04 JIZHHZ2Z2XNSE+ 14,157 13,369 788
OFAr2el 22X E= 13,857
° Jl23 44 640 * 198 * 230 10,268
o FHRE 44 6403 * 18 = 47 2,099
o 2HAlYH| 3,000& * 198 * 230 690
o HEF | 400,000& = 18 « 23| 800
o=l 300
ocF M HH= 150,000& * 1H « 23| 300
201 Let24d] 666,524 663,524 3,000
01 At 22l 82,724 79,724 3,000
Oget=gH| 82,724
oM+ A 25,0003 = 102& * 23l 5,100
¥R =N =8 4,500,000& * 13l 4,500
oHAL U - 28 HIAS
733 * 12,000m = 73| 6,132
oc2lgsd =2AANTE
150,000& » 4004 = 13l 600
ostaelid ¥ HLFH =8 28,205
ocXMI|etM e 2
1,232,250& = 12& 14,787
ocFEMZE 225 P2 1,700,000& * 123 20,400
CEAEE Y £ FA
3,000,000 * 13l 3,000
02 =224l 583,800 583,800 0
O3 & HA 415,300
cEIMNERES 3,000




S 8D
M AXMTHAEXS
ool 2 BRUM Bel 583 (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o AEOLM & 3| H| 150,000& = 23] 300
oMot ER2 30,000
olMIIRa 162,000
o &=dl bl A3 M 3 Yl 220,000
(@)%K=2:] 73,500
oF2d YL g HedaY| 73,500
OAI& &Hl KX Hl| 95,000
o X AMAE ¥ HHl A2 70,000
oAl (dENAHE KA 22 25,000
202 044 1,620 1,620 0
01 2L Y| 1,620 1,620 0
O AN ERF=A
81,000& x 2% x 22 x 53] 1,620
401 A& HI L 2T 10,000 554,000 544,000
01 A& HI 10,000 550,594 N540,594
OFAMN 88X & 5,000,000& * 23] 10,000
= - 28 ML 2] 1,715,348 1,777,544 NB2,196
201 YEr2 Y| 42,677 40,000 2,677
01 At 22l bl 20,000 20,000 0
Ossrrg 200,000& = 50& X 10,000
OddHIIx=4= 200,000 = 50 X 10,000
02 332494l 22,677 20,000 2,677
OSFMA L= FIIEXIA 20,000
O=ZZKAX A2 SANE$ 2,677
202 04d| 3,240 3,240 0]
01 2L Y| 3,240 3,240 0
O= 322 RF=A
81,000& = 29 * 22 % 108 3,240
405 Ko SHI 1,669,431 1,734,304 AN64,873
01 JtAY = ZF SHI 1,669,431 1,734,304 N64,873
O(F)KBS EHEHEIE =2 THAF DHEY 242 (43R} 1,669,431
NANHX 22X 220,000 0 220,000
= 110,000
Al 110,000
401 AIEHIL 20| 220,000 0 220,000
= 110,000
Al 110,000
01 A& HI 220,000 0 220,000
OAMEAN D52 LEDXY WH ALY 220,000
= 110,000
Al 110,000
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NSO
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re o
HO M
02 0

ZHI(321)
al

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
HAMSHEAY (3 AHD) 112,640 131,128 AN 18,488
ol 2 A | 77,296 94,584 N 17,288
olea 2A | 77,296 94,584 N 17,288
101 @ 21| 77,296 94,584 N 17,288
03 2IAHALZZXHE = 77,296 94,584 N 17,288
OHsZz g 22 224 B 21,624
ocllz2 44 6403 * 1Y = 2502 11,160
SENI0: =] 11,160,000€¢ * 4/12 3,720
cHIRIF Y 44 6403 * 19 x 20¢ 893
o N2 2L E
8,370& * 198 = 10A12+ = 128 1,005
oFF 4G 44,6403 * 14 x 52 2,322
o H&E S IHH| 400,000% * 14 = 23 800
o2&l 80,000& » 1¥ x 12& 960
o X 2I& | 19,100,000 = 4.0/100 764
OFAMNE2 22X B 27,172
ollza2 44 6403 * 1Y = 250 11,160
SENIO =] 11,160,000 * 4/12 3,720
cHIRIFIIFE 44 6403 * 1Y x 20¢ 893
oANZAHAI2ELE
8,370& * 1Y = H2A12F = 128 5,223
oxsaY 44 6403 * 1Y = 52 2,322
o HAEFIHYI 400,000& * 1Y€ * 23] 800
o g &l 80,000 » 1Y = 12& 960
o It 2 11,160,000 « 12 = 10/100 1,116
o XML& 24,434,0002 * 4.0/100 978
OFANELe 2 22N B 27,900
ollz2 52,870 * 1Y = 250 13,218
SENI0 =] 13,218,000 * 4/12 4,406
cHIRIFIIFE 52,870& * 1Y x 20¢ 1,058
o A2 ELE
9,913& * 1H * 20AI2t = 12& 2,380
oxsaY 52,870& * 1Y = 52 2,750
o ™A F Y| 400,000 * 1H = 23] 800
o g &H| 80,000& » 1% = 12& 960
o Jit 2 13,218,000 = 10/100 1,322
o XML& 25,134,0002 = 4.0/100 1,006
(@RTE==3] 600
o AR HEE 150,000 * 29 x 23] 600
=l 35,344 36,544 A1,200
JlE23Hl 35,344 36,544 A 1,200




M 3

M HHE2HZAH (S AL)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 et A | 29,544 30,744 A 1,200
01 AFR2t2ldl 25,944 25,944 0
Oget=gH]| 14,184
o2 MEY JI=2&dH| 250,000& = 12& 3,000
SANREE FU(BAMX S)
200,000& = 12& 2,400
oHHAIRIID AE23 7L
300,000& = 9CH * 2.43] 6,480
oW24)| AXS 55,000 = 20H = 12& 1,320
oMEUZ 82,000& * 12& 984
OZ2 &l 7,000& * 20 * 7Y x 128 11,760
02 332494l 3,600 4,800 A 1,200
O332=2 % HA 3,600
oREeZ 300,000& = 12& 3,600
202 04| 1,600 1,600 0
01 2LHOHI 1,600 1,600 0
OHlAZ2 2oLl 1,600
203 PR =&lY| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORNSgIRF&Y| 350,000& = 12& 4,200




